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Part ! (10 M RKS)

For each question from 1 t0.10, four optrons a $ ’}A One of them is the correct answer.

Make your choice (1, 2, 3 or 4) and’ wnte ihe correct" answer in the brackets provided.
' Each correct answer will score one mark. - '

- 1; _ Study the table below.

_Dlgestlve System’ “Circulatory System [ Respiratory System
stomach E . .heat .. = |- - _ lungs

small intestine blood vessels

- Whrch of the fouowmg is: groupede rongly?
(). “heat - (2) -lungs .
(3 orbcage - @ smach ()

2. Which of the following statement(s) describe(s) the systerm below?

; v___lt removes. und!gested food from the body

'jf;‘_lt breaks down food mto smaller substances

A
B Ll
o C _lt carnes drgested food water and oxygen to a!l parts of the body.~ :

v,v;__:_lt takes oxygen mto the body and removes carbon dxox:de from the body
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3. Study the diagrambelow. - ..

Which of the following shows how food travels: through the chgestrve system before
dsgested food enters the bloodstream’7 o o _

'”(nhAsBscsD~~
@ A>B>CoE
(3 B>CSESD
”k®f¢éE%D%F;“.“ B S

4. The graph betow shows the amount of undtgested food as ;t travels through the human

e dlgeshve system

Amount
of und:gested
food

‘Based on the graph above, which pa
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5. Beatrice has been passing out watery wésteTWhich part of the digestive system is not
working well? ‘

(1) gullet . - (2) stomach
(3) smallintestine (4) large intestine (* ) =t

6. Study the chart below.

Organs P, Q and R from-the i
digestive system '

Does it mix food
with digestive juices?

V -Does it absbrb Wé{er
~into the'body?- - _

Yes '

R - S E RS AN o JER I I,
~ gullet- | smallintestine

o mouth - ] .7 stomach _

- smallintestine || large intestine. -~ |

' hgublet. -

smallintestine:
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7. Metvin wanted to magneti5e~-an iron, ,rod AB using a tnagnet

He stroked the rod 20 timesin the same: dlrectlon with the magnet as shown in the
diagram below. -

- Tofi nd out if the rod was magnehsed Melvm used the rod to attract some steel
. ;nalls It attracted two steel nails: e e e e <

L Me Vi epeated the above: expenment usm ) . mtler iron: rod :
What should he do to the iron rod 103 that it coutd attract: more steel nalls'?

(1_). Stroke it from A to B for 5 tsmes
(2) Stroke it from A to B for 30 tithes
(3) ‘Stroke it from B to A for 20 times. - _
o (4) Stroke it with both potes of the magnet for 20 tlmes each. ()
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8. Albert placed 3 metal nngs X.'Y and Z, through a wooden rocf as shown below

L H/wooden rod

i

- Z 1 L

He made the following observations:

A Metal rings X and Y did not touch each other.
B: Metal nngs Y and Z touched each other.

Based on his observations above, which of the following(s) is/are'deﬁnite_ly‘maghet,

™) Xony (2) Zonly .‘ |
(3) XandYonly ' (4) X,YandZ L ; ( )

- 9. ~Tricia tned to remove a pinfrom a tray of salt by using a bar magnet as shewnin.-
the diagram below. SE T

‘magnet

- pin .

- salt’

: ‘_She observed that she could not remove the pm | e A T R

',ﬁ,.Wh;ch of th followmg are ossnble e asons for the above ob,'servauon'> o e

A “The magnet was not pfaced in the’ N"S dlrectso
. B:.The pm was not made of a magnetlc matenai
C The magnetnc strength of the bar: magnet’ was. too weak
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" 10. "'Bffeﬁévdﬁ*madefan»*éleétrqm’a‘gﬁet*—"uéing an iron rod as shown below. The iron rod
was able to attract-only four pins.

wire

iron rod

battery

pins

Which of the fonowmg(s) should he do to increase the number of pms that the

electromagnet can atfract? _

~ Ar ~ Add one more battery to the set-up -
B - Replace the iron rod with a‘copperrod. -
C: lncr'ease ihe number of coils aréund the i;on _rodf N
(1) Conly S ’ @ AandConty' : | o _) 
(3) BandConly o “(4) ABandC L
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Bartll (5MARKS)

For questions 11 and 12, write your answers in the blanks provided.

11.  Study the car frame as shown in thedsagcam below.

car frame

a) Name the. human body systen that serves the same function as the car frame.

by How is the function of the car frame similar to the human system in part (@)?[1]
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12, Siti observed the posmons of magnet N and object Y when hung freely on a
wooden rod. .

magnet N object Y -

a) Siti said that object Y.is a magnet based on the observatton above.
Do you agree? Explam why S B ]

- -Siti then moved magnet N near a tray of paper clips as shown below.

magnet’N -

- tray ofpaper élips .|

.'tab[e top——— ///4///;// Z

:::i"_b)j - Whlch part of the magnet (A or B) attracted more paper chps’) Explam why
S T @
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' Q11a. Skeletal system Q1 1b. Both the car frame and the skeletal system glves the
shape and supports the car or the body .

Q12a. No, because if object Y is a magnet it will repel

Q12b Part A attracted more paper chps because a magnet is the strongest at the
poles, and ‘A’ is at the poles. . . . :

THEEND -







